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Knace YyeOHble Bcero ven. ImoruelBce «5» OpgHa | OBe | «<5» u | OgHa | OBe | MHoro | Ectb Ectb Het Kau, %

nepuoabl «4» «4» «4» «3» «3» «3» «2» «Hla» OTMETKM

2 | yeTBEPTH 9 9 6 0 0 0 4 2 1 2 0 0 0 44

2 . 9 9 5 0 0 0 5 0 2 2 0 0 0 56
yeTBepTb

2 i 9 9 6 0 0 1 4 1 0 3 0 0 0 56
yeTBepTb

2 v 9 9 5 0 0 0 5 0 0 4 0 0 0 56
yeTBepTb

2 ["opoBas 9 9 6 0 0 0 6 0 1 2 0 0 0 67

3 | yeTBEPTH 13 13 9 1 0 2 5 1 4 0 0 0 0 62

3 . 13 13 10 1 1 0 6 2 1 2 0 0 0 62
yeTBepTb

3 . 13 13 9 1 1 0 6 1 1 3 0 0 0 62
yeTBepTb

3 v 13 13 9 1 1 0 5 2 2 2 0 0 0 54
yeTBepTb

3 "ogoBas 13 13 9 1 1 0 6 1 3 1 0 0 0 62

5 | yeTBepTH 12 12 5 0 0 0 4 1 1 6 0 0 0 33

5 . 12 12 5 0 0 0 5 0 0 7 0 0 0 42
yeTBepTb

5 . 12 12 4 0 0 0 3 1 1 7 0 0 0 25
yeTBepTb

5 v 12 12 5 0 0 0 5 0 1 6 0 0 0 42
yeTBepTb

5 "ogoBas 12 12 5 0 0 1 4 0 1 6 0 0 0 42

6 | yeTBEPTH 9 9 6 0 0 0 6 0 0 3 0 0 0 67
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10 onoBas 5 5 2 1 3 20
I
11 nonyroam 3 3 1 0 2 33
e
Il
11 nonyroam 3 3 1 0 2 33
e
11 onoBas 3 3 1 0 2 33
Bcero Jl yetBeptb] 72 72 37 27 27 42
Bcero . 72 72 40 34 29 50
YeTBEPTh
Bcero . 72 72 38 28 31 43
YeTBEPTh
Bcero v 72 72 36 27 31 40
YeTBEPTh
I
Bcero | nonyroan 8 8 2 1 5 25
e
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Bcero | nonyrogm 8 8 3 1 5 25
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